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HHB-1 af 68?m HEHB-13 af BOm HEHB-25 [v=8, 460m
HEHB-2  |v=110m HEHB-14 V=3, 551 m HEB-26 |v=14, 115m
HEHB-3 |V=566mn HEB-15 WV=534m HEB-27 |v=2, 204m
HHBE-4 |V=77m HHB-16 |v=168m HHB-28 [v=192m
HEHB-5  |[V=40mni HEB-17 |WV=2095m HEHB-29 [V=203m
HEHB-E  |V=2, 616m HHB-18 |v=1, 060m HHB-30 [V=543m
. _ BEB-7 [|v=1, 004m HBHB-19 |[v=388m HiHB-31 |[V=260m
A HIREFERED |[5®@5—=. |v=605m E®B 20 [v=7, 850m E®B-32 |v=827 i
5 HEHB-9  |[V=031m HEHB-21 |v=1, 375m HEHB-33 [v=311m
= HEHB-10 |v=1, 370m HiHB-22 |v=2, 031m HiHB-34 |v=2, 029m
HHB-11 |v=1, 585m HEHB-23 |W=057m HEHB-35 |v=1, 008m
HEHB-12 |v=1, 134m HiHB-24 W=081m HiHB-36 |v=9, 608m
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HI®A-1 |V=576m AHIDA-10 |V=23m
HI®A-2 |V=341m AHIHA-11 |V=145m
HIpA-1 AM®A-3 |V=419m HMA-12 V=461m
HIA-4 |V=256m AHIPA-13 |V=493m

F(PA-14 |V=1, 365m
HIPA-15 |V=4, 668m
FIPA-16 |V=1, 370m
HIDA-17 |V=4, 954m
V=246m

HIMA-5 |V=207m
HIWMA-6 |V=1,766m
HIA-7 |V=58m
HIMA-8 |V=579m
V=17m
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HEBB-1 |v=1, 169m
HBHB-—2 |v=058m
HBHBE-3 |[v=24m
HBHBE-4 |v=4, 557m
HHB-H |v=5, 389m
HiBE-6 |v=857m
HBBE-7 |v=670m
HBHB-8 |v=141m
HBE-9 |v=642m
HBBE-10 |v=5, 422m
HHBE-11 [v=25m
HBB-12 |v=6, 272m
HEBBE-13 |v=1, 002m
HiBBE-14 |v=2, 054m
HBHB-15 [V=20m
HIBE-16 |v=750m
HiBB-17 |v=45m
HBB-18 |v=10m
HIBBE-19 |v=70m
HBE-20 |v=244m
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HiE=E (BE0
HMA-1 |V=116m
HdDA-2 |V=178m
AIDA-3 |V=26m
HI)A-4 |V=188m
AHIA-5 |v=1,217m
HIA-6 |V=4, 842m
HADA-7 |V=4, 429m
HIA-8 |V=21m
HIA-9 |v=2, 148m
AHIDA-10 |V=2, 825m
HIA-11 |V=949m
HdDA-12 |V=285m
HADA-13 |V=746m
HWA-14 V=1, 591m
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BBE-1 |[V=428m
a0B-2 |v=66m
H0B-3 |v=132m
20B-4 |v=311m
BOB-H |v=61m
20B-6 |v=207m
00B-7 |v=2m
a00B-8 |v=26m
A00B-9 |v=45m
A0MB-10 |[v=27m
HDB-11 |v=92m
BDB-12 |v=40m
B(DB-13 |v=69m




